NAME:

S.S.H.S. - Year 10 Assessment — June 02
Plane Geometry

Time allowed: 1 Hour

Answer the following in the given space. Show all necessary working.

(b)
1. Find the values of all pronumerals,
giving reasons for your answers.

(28 marks)

(a)




(c)
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(d)
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(3y+20)



(e)
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Figure shown is a regular hexagon.

(2




(h) If each interior angle of an 3. Find the value of x in the diagram below ,
n-sided polygon is 160°, giving reasons. (4 marks)
find the value of n.

2. (a) Name two special properties
of a rhombus which do not belong
to a parallelogram. (2 marks)

(b) Give two special properties of
a parallelogram. (2 marks)




4. Giventhat CDEFis a
parallelogram, show that ABCD is
also a parallelogram. (5 marks)

D C

5

4

. Use the information given in the diagram to
find: (4 marks)

(D the value of x

(i)  the size of ZABE



6. Inthe diagram below,

AB||CD, £4=60°, ZCFA =110°
/DCE =38, find £BCE giving
reasons for your answers. (5 marks)

7. The figure below shows a regular
polygon ABCDEFGH and
BJ || KL . (8marks)

F E

(i) What is the name given
to this regular polygon
ABCDEFG?

(1)  Find the size of LZHAB giving
reasons.

(iii)  Find the size of ZCBJ and
hence the size of /IKL giving
reasons for your answers.

End of assessment.
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(28 marks)

(a)

Ty tfo (asy s
o a {:?x/ \'a‘,.\G-)

55 243-_\0‘%(3"-\30
3'3 - 130
9 s Y
ooty e Lady tS, on g
*;"(".»\lr\@)
“Wtolin¢ p’rD\.:“ic:L}

o - - .
9 to + ‘45 R SRR U

1

ons g

Py e L

L RGC = ¢ (ant _L;/, AR c.b)

£ CGE < é’v’( ati- LQ/ T, ET.)
‘/ )
RS = & P\C"‘IC - i C':l’;
S - @ s (A
- o y

Fa



(c) B

Qv +40)"

L(ZU 10

ARy e

R Y ~to =

59t 3

’55:

C Ru._“J,L) /

Z % P ‘f’\‘}‘; /r’ C"})

= \'f--:s/'

{Re

Lo
G

'\g'i'} Cte ey

(d)
(2y+35)°
i)
£ BAD = o -7
Ty 438 col| 19 an a
\m'ff)
L OBAD = WR o~
2 BEh = \gp - 0} (os
8o @3*’96\ (:’ﬂ. !S/‘-W. a s\ i
J_B e = \65 - :’;w
2
5 + o (e L
N PRl %hp,‘,-)ﬁh(\gm.‘;)
= :3)

Cly - ‘2) ¥ 135" cupee u’*/lh"L ts b, Fuuigléla

-

654 lku =l \1.\."_-\ -
J ~* )—&:‘j =+ {éﬁ 3% & géﬁ



i

Ad = R ( Si\ie,u_)

EOBA T somme g ¢

T

\Soy, h>
V4
DBA </ bAg ¢ B ' () s
L)
5o ’ |
T %0 + LR = gy /
N S
P\T)E T 4L RBbe = \%ﬁ‘( OdJ L aw
Y [« ]
Sl \'IV\.,Q)
I YT . &
< len©

L Bbe 4+ v = (387 ¢ ext };/5 mLz:)
e S T

X .“356(,/

®

Figure shown is a regular hexagon.
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(h) If each interior angle of an
n-sided polygon s 160°,
find the value of ».
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2. {a) Name two special properiies
of a rhombus which do not belong

to a parallelogram. (2 marks)
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(b) Give two special properties of
a parallelogram. (2 marks)
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3. Find the value of x in the diagram below ,
giving reasons, {4 marks)
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4. Given that CDEF'is a
parallelogram, show that ABCD is
also a parallelogram. (5 marks)
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5. Use the information given in the diagram to
find: (4 marks)

A

(1 the value of x
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(i)  the size of ZABE
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6. In the diagram below,
AB|CD, £4=60°, ZCFA=110°

/DCE=38", find £BCE giving
reasons for your answers. (5 marks)
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7. The figure below shows a regular
polygon ABCDEFGH and
BJY KL . (8marks)

(i) What is the name given
to this regular polygon
ABCDFEFG?
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(i}  Find the size of £HAB giving

1easons.
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(i}  Find the size of ZCBJ and
hence the size of ZIKL giving
reasons for your answers.

‘\"‘*‘ 1S [£3 xe c{u&‘ G Y}O\‘jq‘,)’-u__
. ~ J

2 WMER T L Ao =13y
WS 2 eRT s ge Q/C‘/;U L3 aa
G Vi)

Z CBS: AL

“r

Mt 9+ 01w :/\/Scs( ‘S buin o
L IR = 4%
LOTN T 2 CXBT AT Lvert wpp. o
ATSX_KT*"Z‘L\Q ;\§:{( Co- Tt g
130w )

BS ¢ 41l s \do

.r,i\a\,“-;/\‘—*s

]

TT—
A

End of assessmemnt.



